BSAA Final Exam 

Fall 2012 Answers

Each of the following is a cell organelle except one. Which one of these is NOT a cell organelle?
_______________________

 
 
What structure is common to ALL cells?
__________________

When a large proportion of a cell's ribosomes are attached to the endoplasmic reticulum, it is a sign that the cell is specialized to:
_________________________________________
 
The chromosomes of a eukaryotic cell are located in the: 
_________________________
Which is found in the nucleus? 
_____________________
 
Which structure composed mainly of proteins and lipids, aids in maintaining homeostasis in the cell? 

___________________________
The organelle most directly involved in Protein Synthesis is the 
__________________________

The rigidity (support) of a plant cell is due primarily to the presence of the 
_______________________________
 
Provides temporary storage of food, enzymes, and waste products
_____________________________
Which structure is found ONLY in animal cells that pull the cell apart during mitosis
_________________________
 
The organelle most closely associated with the packaging of the materials within the cell is the 
_______________________​​​​​​​​​ 
 
The cell's primary site of ATP production (Energy) is the 
_______________________________
Which cell parts are only found in plant cells? 
_____________________________________
 
Site of protein synthesis  (where proteins are assembled for use In the cell) 
________________________________
Which defines a Cell? 
__________________________________


Which Structure is common to all cells?

___________________________________
Identify the concept of Osmosis:

____________________________________________________________________
Which of the following is not part of the cellular theory:

____________________________________________________________________
Identify the explanation of how selective permeability works in a cell:  

_______________________________________________________________________

Identify the difference(s) between a celery stack cell and a human cell: 

___________________________________
___________________________________
___________________________________
Identify the following vocabulary word from the given definition: 


Process of maintaining balance inside of a cell, maintained by the plasma 

membrane

___________________________________
The advantage of a compound light microscope over an electron microscope is that it 

___________________________________
Which organelle produces protein for the cell:

___________________________________
When asked about Active Transport identify the sentence that best explains it:

______________________________________________________________________
____________ the feature of the plasma membrane that keeps some substances out

_____________  Which structure provides the cell with its external characteristics

____________ This structure has to physically move materials across the phospholipids bilayer. 

____________  Which structure resists water

_____________ A Molecule that has a glycerol backbone, two fatty acid chains, and 

a phosphate-containing compound. 

___________ The quality of a plasma membrane that allows oxygen and glucose to 

move in

___________ Which structure provides the cell with a majority of its rigidity

____________ is maintained by the plasma membrane
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. 
Given this picture – what can you tell happens in this cell organelle? 


 ___________________________________

What type of cell would this structure be found in? 

___________________________________
The picture to the left is which organelle? (be specific) 


___________________________________
What are the bumps on the surface producing for the cell? 

___________________________________
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What structure is the arrow pointing to?    

___________________________________
What type of cell are you looking at? 

___________________________________
What would the structure identified in #7 be most likely be filled with?  

___________________________________
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This picture is a lysosome – what is the function of the organelle in a cell? 


 ___________________________________
What would be found in the organelle? 



___________________________________
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Identify the structure that is produced from the Golgi apparatus? 



___________________________________
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Label the picture of the plasma membrane

 
___________________________________
___________________________________
​___________________________________
___________________________________
structurally what is the only structure that goes from one surface to the other on the plasma membrane? 

___________________________________

Identify if the picture is 

___________________________________
What are those structures called that are formed (arrows)

___________________________________


. What type of transport are you viewing in this picture? 

___________________________________
Scientific Methods Unit 

________________ is a tentatively accepted theory that explains the relationship

between two variables.

. This test is called an

___________________________________
A is a characteristic by which an object of phenomenon may be described.


___________________________________
An is the characteristic that the researcher believes will affect another variable.


___________________________________
The manipulation of the independent variable is known as the ___________________.

The _________________ is the characteristic that will be observed.

____________ is the exact duplication of the experiment.

____________________ are the factors which may impact the effect on the dependent

variable.

A controlled experiment must have _________________ or conditions in an experiment that remain the same.

. _______________is the process of holding factors constant in an experiment

Mitosis Unit 

 _______During this phase, spindle fibers attach to the chromosomes as they group together.

_______ 

This involves the passage of molecules through a semi-permeable membrane from an area of high concentration to an area of low concentration.

_______ 

During this phase, the nuclear membrane begins to break down, spindle fibers appear at each end of he cell, and chromosomes become visible as paired bundles.

_______ 

In the final phase of cell division, the organelles move to the new nuclei, and the cell completes division by forming a plate between the two new complete cells.

_______ 

During this phase, new nuclear membranes are formed around the groups of chromosomes, the spindle fibers disappear, and the chromosomes uncoil.

______ 

 In the DNA strand, the nitrogen base represented by the letter “C” will always pair up with which other

nitrogen base?

_______ 

The process of nucleus division that involves five phases

_______ 

This is the phenomenon in which water molecules move from an area of high concentration to an area of low concentration.

_______ 

In the DNA strand, the nitrogen base represented by the letter “A” will always pair up with which other nitrogen base?

_______ 

During this phase, the chromosomes divide and separate, moving to opposite ends of the cell.

The  DNA segments with specific traits are called _____________. 

An organism produces ___________________ which are sex cells  

Genetic __________________ occurs when crossing over happens and during fertilization resulting in changes to a trait.   

The appearance of a blue eye verses a brown eye would be an example of a 

The actual genes Tt would be considered __________________

A Cell that contains 2n number of chromosomes is called a ___________ cell   

When two different traits appear in the phenotype, the appearance of both is called __________________ traits    

A _____________ trait is one that is visible in the pairing. 

A ______________ trait is one that is present but masked from the phenotype

 ____________________ result from a mating of two individuals.  

 An ____________ is defined as a single gene from mother or father to offspring.  

While a _______________ organism is one having different alleles for a particular trait. 

Their phenotype is controlled by either one or the other gene. 
_________________________________

An Allele is___________________________________
A dominant trait would be the following: 


___________________________________
A masked allele would be the 


___________________________________
Co-dominance

___________________________________
Phenotype is the 

___________________________________
Incomplete dominance is expressed when: 

___________________________________
_______ Genetic material found in the chromosomes

_______The organism’s physical or outward appearance

_______The likelihood of a trait being passed of from parent to offspring

_______Traits controlled by several pairs of genes. These traits are expressed across a range. These traits can also be altered by environment

_______The actual genetic code

_______Traits controlled only by a single pair of genes and cannot be altered by the 

environment

_______The formation of new chromosomes resulting from the splitting and rejoining of the original chromosome

Which is an example of a homozygous trait? ___________________________________
In guinea pigs, short hair is dominant, what would a short haired quinea pig be? 


___________________________________

DNA/RNA Protein Synthesis

Codon: ________________________

Anticodon: ____________________________

Transcription: ___________________________________________________________

Translation: _____________________________________________________________

Replication: _____________________________________________________________

What are proteins composed of?  ____________________________

Where are proteins made? ___________________

What is the role of tRNA? _____________________

What is the role of mRNA? _________________________________________________

Label the following diagram with these terms. 



              


What base is unique to DNA? ____________________

What base is unique to RNA? ________________________

What molecule is RNA transcribed from? ____________

How many NITROGEN bases make a codon? _____________
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